Melbourne Contract Bridge Centre

We have temporarily moved to Green Acres Golf Club
Session times and availability have changed

please check website for further information

Tel: 9853 1449   ABN No: 88 791 813 415
website www.melbournebridge.com.au
Directors:   Ian Mansell   Sandra Mansell

Newsletter for week ending 08 Sep 2013
Mon

Yona Gross & Joan Ford

Janet Reynolds & Peter Cork**

Tue
Day
B & R Begg= L Johnstone & R Cross Irene Knightly & Cathy Green

Night
Janet Reynolds & Peter Cork**
Rita Cally & Oliver Goodman
Wed

Pat McCabe & Jude Adams**
Mary Buchanan & Robert Meek
Fri

Barbara Benson & Jill Tremonti
Merryl Howell & Elsa Hatfield**
Sat

CLOSED
Hand of the week: Tuesday Board 16 E-W vul Dealer W

Reading the cards
West opens 1( and North, despite having a good six-card club suit, should Double (and bid the club suit later, thereby showing 16+ HCP).  South jumps to 2( to show “points” and a spade suit. East passes and North shows their 16 HCP by bidding 3(, and South bids 3NT having a good hand and hearts stopped twice.

With a heart holding of K10xxx, the one thing West should NOT do is to lead a heart. West should probably not lead a diamond for the same reason. The best lead is probably a small club, won with the 10(.  South must read the cards very well in order to make 11 tricks. Since West opened they must have the KQ(, K(, K( and a jack somewhere for their 12 HCP. 

A spade to the Ace reveals (hopefully) the doubleton KQ in West’s hand. A club back to the queen and a second spade puts West on lead in order to lead away from one of their kings. 11 tricks made!
THERE WILL BE NO BRIDGE ON SATURDAYS while we are at Green Acres. Ditto Monday Night 8th, Tuesday daytime 17th , Friday afternoon 20th. Monday daytime will commence at 12.00 (with no break for lunch). Our apologies for any inconvenience.
Sandra and Ian
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